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FR OGS ALL FRAPST &> % - 5| S R 29 TL 450 @FF > T2
A= AR o dl 357 = 4Rl = 008) 0 d2 & 4w 4 R (LR 3 50:311) - d3

P B R BRI E 03 X R ek (L ARl s OFFRR )

T1T2d1d2d3rx

260 110 1 1 1 O
30 332 1.0 1 0
530 530 0 0 0 1
996 996 0 0 0 1
226 226 0 0 0 1
418 418 1 0 1 O
216 276 1 0 1 1
156 104 1 1 1 1




781 609 1 1 1 O
371 230 1 1 1 0
526 526 1 0 1 1
110 74 11 10
243 122 1 1 1 1
466 466 1 0 1 1
262 192 1 1 1 0

= ;% 1. Kaplan-Meier (KM);2

ok RM e B R EEE - FE o PIH B FR AL G 3K fL(censor) o ippE R H
Kaplan-Meier (Kaplan and Meier, 1958); s 3+ 75 /% Jn #ic(survival function) & % 3.7 F B
REBEATH e B o B2 LK H A 7 § Fl5 MR s a 7 2 o F i Kok Moo eh i
S h'eoos ABERAFELC #g o rj&{f&;{:@: P R R PUPE R 2 o AT )

* R gickg @ library(survival) s survfit 3272 K # 3] KM 73+ o

R % (KM & 3%)

library(survival)
data.all=read.table("d:/ALL.txt",header=TRUE)
attach(data.all)

km2=survfit(Surv(T2,d2) ~1,data=data.all) #KM 53+

cbind(km2$time, km2$n.event,km2$n.risk,km2$surv,1-km2$surv) #z]:) f£ & (i %

B R T A A B AT
te= BB P (AUR A B2 B TIRE T S8 4 R R)
de= 2% X #

Vie= #'% B & (at-riskset) » THREPERF AR ENEF R &

KMr = 3044 ehs 5 (o ez 78 )

1- KM= 8 n i fi s 2 5



iz * Kaplan-Meier (KM)= ;2 G342 ok f7 a8 2 5

ID tre dre Yre KMy  1- KMy
1 74 1 15 0.933 0.067
2 104 1 14 0.867 0.133
3 110 1 13 0.800 0.200
4 122 1 12 0.733 0.267
5 192 1 11 0.667 0.333
6 226 0 10 0.667 0.333
7 230 1 9 0.593 0.407
8 276 0 8 0.593 0.407
9 332 0 7 0.593 0.407

10 418 0 6 0.593 0.407

11 466 0 5 0.593 0.407

12 526 0 4 0.593 0.407

13 530 0 3 0.593 0.407

14 609 1 2 0.296 0.704

15 996 0 1 0.296 0.704

PP R G 1B B AT B4 G 15 AP HE R B LY & 7154 o
BBRTA X R LF A8 e s LA7F LARE) T AFL gt F 5
(15-1)/15=0.933 » A % 4 g e E - F 7 5 09330 #F 4 R hE 4 F R A
1-0.933=0.067 ; B ps ¥ /i » 74~104 % pv > iz 0 BRI & L4 sF > A4 14 4 D ERH
Bk o LPERGEE LY ¢ 7 144 o BBIH G 23R 104 X AR E o T A AR
gt 5% (14-1)/14=0.929 > 2 3 4 45 Rk f v 5 0.929%0.933=0.867 0 Fut B 4 4
B 4 F R E.1-0.867=0.133; AT 45 276~332 A LR GE LY £ 584
PRI % 83T BLER 276 X SARK UK LR TFIE 7= ) wF2 g > T M A E 2
gt F L L AF AR F PR F 5 0593%1=0593 F AR F AR FF A F 05
1-0.593=0.407; BLEPEEF 4 609~996 < pF » S G E A7 § 2 4 o BRI % 14 %
BLR609 X g E o LR AFARFA LR G U2 AR AFARFOIH

#] % 0.593*1/2=0.296 - # 4 fa# H A fH# 2 F 5 1-0.296=0.704 -



=2 2.3 fa 8 2 Sk(cumulative incidence function, CIC)
e {fﬁéfirffiﬁ AT RERRFE ;- OGP FARBEIENRFHF AT SN2 AR
AMELFT R EZEERMIRGEERS, T T o APFTH* Rixgv

library(cmprsk) err cuminc 3% 72 X # 3] CIC &2+ -

R 32 (CIC 3
library(cmprsk)
data.all$cd=d3 prr Sl cd(l 2757 = > 22 AAF 00 2 7%

data.all$cd[d3==1 & d1==1]=1

data.all$cd[d3==1 & d2==1]=2

cfit=cuminc(T2,data.all$cd,cencode=0) # CIC for each competing risk
km=survfit(Surv(T2,d3) ~1,data=data.all) # % > 4p % & 5= g %
Cl=timepoints(cfit, km$time) # & # & G- P aL

Cl$est  #7] CIC =3+

A - S BRI 4o 0 A ¢ BB KT L
tre= E‘?‘l}’;rﬁ?i);?p’é‘:%&
Ce= ¥ BEEL b '&T™ » 23 A #ic

cdg= T RELRSG T > 5= A ik

Cle= ¥ m#<h'&™ > 1£;?m€77];

_L,»x

Clay=% gL h'&™ » 7= DR fid 2 F=1-KM- Cle



g% CIC* 2 Raanifgsdss

ID tre cd cdre cdqg cy KM chre Clre Clyg
1 74 2 1 0 15 0933 0.067 0.067 0.000
2 104 2 1 0 14 0.867 0.071 0.134 0.000
3 110 2 1 0 13 0.800 0.077  0.200 0.000
4 122 2 1 0 12 0.733 0.083  0.267 0.000
5 192 2 1 0 11 0.667 0.091 0.333 0.000
6 226 0 0 0 10 0.667 0.000 0.333 0.000
7 230 2 1 0 9 0593 0.111  0.407 0.000
8 276 1 0 1 8 0.519 0.000 0.407 0.074
9 332 1 0 1 7 0.444  0.000 0.407 0.148

10 418 1 0 1 6 0.370  0.000 0.407 0.222

11 466 1 0 1 5 0.296 0.000 0.407 0.296

12 526 1 0 1 4 0.222  0.000 0.407 0.370

13 530 0 0 1 3 0.222 0.000 0.407 0.370

14 609 2 1 0 2 0.111 0500 0.518 0.370

15 996 0 0 0 1 0.111 0.000 0.518 0.370

Fo- F4e7 15 AREBEZ &wl'ed 67 ¢ 7 154 74 x5 » 25 AH
B B AN RS L L RETAT R RERHE LFLRE(Cd S 247
RAF) 0 FIM A A R et K OE 1/15= 0.067 > T A R g A K L R e iE g
(KM)* 5 2 ek "% (Chre)=1*0.067=0.067 - % 4 44 % e} % 2 & | £.1-0.933=0.067 ; &
BRPER G0 74104 TP R RBIHE LGE R LA PEREAT R S
Hra kb 7 144 LA p ey S 0933 BLRIE % 230 104 X PR
SEYUGE 44 At ) 5 1/14=0.071 0 et s v 4 o % 0.933%0.071=0.067 - 4k % 5%
a4 F )4 0.067+0.067=0.134; L pEm 4+ 276~332 A pF > ppEHG B LY ¢ 5 8
A BB R 8RR 276 X (S 0 R F| AR 0 T MR F A g gt F 5 0
o s A g 5 0.593%0=0 0 FlfE SR A A F 5 0.407; BB 4T 609~996
A LR ST 24 0 BRI R LA NRE 600 X (5 A 4E T B A
A At F A U2 @A eng 4 5 3 022251220111 5 2 R E R 2 R

0.407+0.111=0.518 -



At 1 1-KMe B4 2 5Cle 550 H - o d BT 205 2P A609 2 14 15 2

REF2F AR o AR ILFL CIC 302 ngFpm A ¥R SRRE &7 o F AR
IFEFERM G RBFORGET ERF ot R 29 k- HFES - DR RE
4 3 f{ KM-Clree 50 P -2 % € 3Rl - M E R F L= F2 5 afp 3 P

)s

g IPER 609 X pE o R R A A 5 0518 A R 4 55 03700

P T 73 7% 5 5 1-0.518-0.378=0.111 - W %% RFEZ 47 :

plot(km2$time,1-km2$surv,type="s",Ity=1,col=1,lwd=2,ylab="Relpase
Probability”,xlab="Days after transplant™)
points(km2$time,Cl$est[2,],type="s",col=2,lwd=2)

legend(locator(2),c("1-KM_re","CI_re"),lwd=2,col=c(1,2))

plot(km$time,1-km$surv,type="s" Ity=1,Ilwd=2,ylim=c(0,1),ylab="Probability" xlab="Days
after transplant™)

points(km$time,Cl$est[1,],type="s",col=3,lwd=2)
points(km$time,Cl$est[2,],type="s",col=2,lwd=2)

legend(locator(2),c(*"disease-free (1-KM)","Cl_re","Cl_d"),lwd=2,col=c(1,2,3))
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EFERL S FRFENIRLI R R AR AL G ERERLE AR
Logrank test & & # AL f]* *t it e B § 3 B S B AT F AR ik T E o SR
i b & 0 Gray(1988)#% o — #g iz logrank test & &> & ajf]»ué ARG EE R2EAA B
FARE A Fant e 1% R AT > & 2 RFEZ cumine ¥ 4 » group= rx K I

T oo TR R T

cfitl=cuminc(T2,data.all$cen, group=rx, cencode=0)
cfitl Al gt g %
cfitl$Tests # ¥ 7| T 2 %

plot(cfitl,wd=2,col=c(1,1,2,2),lty=c(1,2,1,2)) #R&l =




PRELAAEGEELT S 2 CICELEZ T

Tests:
stat pv df
1 0227 0634 1 > #zEs e2dv- AFFLFELTAR

2 1788 0181 1 > = 2fpF AFFLF

4y
ﬁm
™
=
:%F

FHULEAHREDAME L F LTk od P AT g A S ARG
1.788 > p i (pv)=0.181 > 0.05 > #7141 % JE5 fh & B3k > % 7L F WS EHRP AL g
HREDAFFAFFAR BT AT F N2 FE 2 TEAAFETE 5 2o

CICIRF MFAR » A7t i%i) 3 F o
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Gray RJ (1988). A class of K-sample tests for comparing the cumulative incidence of a

competing risk, ANNALS OF STATISTICS, 16:1141-1154.
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